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How can two fit into two - 290199957 SN2 1IN

OVERVIEW

The X713 asked how can a n"o whose diameter' is two 29V fit into (the remaining
space of) two 2°19v (in the NIX). Based on this question mo01n determines the size
of the n"o.

— YV IDPN NN PNNY DYV yIun
It seems that the six o°rov circumference of the n"o included the P77y -
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For if the circumference of the n"o was six 2’150 without the 1‘717:;7,3 then the
diameter will be more than two 22w together with the a7y,

SUMMARY
The actual circumference of a n"o is slightly less than six a’1ov; however together
with the D>71Y it is exactly six D°mdv.

THINKING IT OVER

moon writes that is was six 0°19v together with the (two) 17y (plural). Once the
Xn3 said the 9231 X377 102702 771Y 790 it means that there was only one T11¥, so how
can the X»3 ask 2°n° 77 *n2 *n, since it is less than 0 for one 7MY is missing?!*

! The diameter is a third of the circumference. The circumference of a 77N is six o°nov; the issue is whether it is six
o°nov without the (2°)7nY or it is six 0°ndY together with the (0°)7ny. See ‘Thinking it over’.

2 Why does the X3 ask how can a n"o of two 2°nov fit into a space of two 015, when the X3 should have asked
how can a n"o that is more than two 219V fit into a space of two o°nav?!

? This means that the diameter of the n"o without the 2°T¥ is two 0°1ob based on the one to three formula.

* See n"na.
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